



Erstelle Zehner, um jede Aufgabe zu lösen.

$$\text{Bsp) } 16 - 8 = 16 - \underline{6} - \underline{2}$$

$$10 - \underline{2} = \underline{8}$$

$$1) \quad 15 - 8 = 15 - \underline{\quad} - \underline{\quad}$$

$$10 - \underline{\quad} = \underline{\quad}$$

$$2) \quad 12 - 5 = 12 - \underline{\quad} - \underline{\quad}$$

$$10 - \underline{\quad} = \underline{\quad}$$

$$3) \quad 11 - 2 = 11 - \underline{\quad} - \underline{\quad}$$

$$10 - \underline{\quad} = \underline{\quad}$$

$$4) \quad 11 - 7 = 11 - \underline{\quad} - \underline{\quad}$$

$$10 - \underline{\quad} = \underline{\quad}$$

$$5) \quad 13 - 8 = 13 - \underline{\quad} - \underline{\quad}$$

$$10 - \underline{\quad} = \underline{\quad}$$

$$6) \quad 13 - 5 = 13 - \underline{\quad} - \underline{\quad}$$

$$10 - \underline{\quad} = \underline{\quad}$$

$$7) \quad 12 - 4 = 12 - \underline{\quad} - \underline{\quad}$$

$$10 - \underline{\quad} = \underline{\quad}$$

**Antworten**

$$\text{Bsp. } \begin{array}{r} \underline{6} \quad \underline{2} \\ \underline{2} \quad \underline{8} \end{array}$$

$$1. \quad \begin{array}{r} \underline{\quad} \quad \underline{\quad} \\ \underline{\quad} \quad \underline{\quad} \end{array}$$

$$2. \quad \begin{array}{r} \underline{\quad} \quad \underline{\quad} \\ \underline{\quad} \quad \underline{\quad} \end{array}$$

$$3. \quad \begin{array}{r} \underline{\quad} \quad \underline{\quad} \\ \underline{\quad} \quad \underline{\quad} \end{array}$$

$$4. \quad \begin{array}{r} \underline{\quad} \quad \underline{\quad} \\ \underline{\quad} \quad \underline{\quad} \end{array}$$

$$5. \quad \begin{array}{r} \underline{\quad} \quad \underline{\quad} \\ \underline{\quad} \quad \underline{\quad} \end{array}$$

$$6. \quad \begin{array}{r} \underline{\quad} \quad \underline{\quad} \\ \underline{\quad} \quad \underline{\quad} \end{array}$$

$$7. \quad \begin{array}{r} \underline{\quad} \quad \underline{\quad} \\ \underline{\quad} \quad \underline{\quad} \end{array}$$



Erstelle Zehner, um jede Aufgabe zu lösen.

$$\text{Bsp) } 16 - 8 = 16 - \underline{6} - \underline{2}$$

$$10 - \underline{2} = \underline{8}$$

$$1) 15 - 8 = 15 - \underline{5} - \underline{3}$$

$$10 - \underline{3} = \underline{7}$$

$$2) 12 - 5 = 12 - \underline{2} - \underline{3}$$

$$10 - \underline{3} = \underline{7}$$

$$3) 11 - 2 = 11 - \underline{1} - \underline{1}$$

$$10 - \underline{1} = \underline{9}$$

$$4) 11 - 7 = 11 - \underline{1} - \underline{6}$$

$$10 - \underline{6} = \underline{4}$$

$$5) 13 - 8 = 13 - \underline{3} - \underline{5}$$

$$10 - \underline{5} = \underline{5}$$

$$6) 13 - 5 = 13 - \underline{3} - \underline{2}$$

$$10 - \underline{2} = \underline{8}$$

$$7) 12 - 4 = 12 - \underline{2} - \underline{2}$$

$$10 - \underline{2} = \underline{8}$$

**Antworten**

$$\text{Bsp. } \underline{6} \quad \underline{2}$$

$$\quad \underline{2} \quad \underline{8}$$

$$1. \quad \underline{5} \quad \underline{3}$$

$$\quad \underline{3} \quad \underline{7}$$

$$2. \quad \underline{2} \quad \underline{3}$$

$$\quad \underline{3} \quad \underline{7}$$

$$3. \quad \underline{1} \quad \underline{1}$$

$$\quad \underline{1} \quad \underline{9}$$

$$4. \quad \underline{1} \quad \underline{6}$$

$$\quad \underline{6} \quad \underline{4}$$

$$5. \quad \underline{3} \quad \underline{5}$$

$$\quad \underline{5} \quad \underline{5}$$

$$6. \quad \underline{3} \quad \underline{2}$$

$$\quad \underline{2} \quad \underline{8}$$

$$7. \quad \underline{2} \quad \underline{2}$$

$$\quad \underline{2} \quad \underline{8}$$